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Chapter 9 - Number Serles,

Coding and Decoding,
Odd Man Out

)

3 32
T G T

1bet Series
Number Series and Alphabet Seri

Past Year Questions

Find out the next number in the following series
7,11, 13,17, 19, 23, 25, 29?

a. 30 b. 31

d._33

i

PYQ June 19

(2)  Find the next number in the series:

7,23,47,119, 167
* a 211 b. 223

il 287 d. 319

T w PYQ Nowv. 19

@) Complete the series,

4,16, 36, 64, 100 .

a. 144 b. 121

e 49 d. 120

_ PYQ Now. 19,

@) Complete the series

4,16 256, 1024

a. B2 b. 48

c. 64 d. 46 J_

2\ €Y0 Now. 29

(5)  Find the missing value in fhe series 0,2,3, 6, 10,

17,28, 2, 75.
* 4 58 b. 46

c. 48 d. 54

’. ‘ PYQ Now. 29
i Find the misSigg yalye ip Ei]\‘g?ﬁ
819" 41 173
® 4 87 b. 49
84 8\7

“ 3 d 38
(7)  Find the wrong tery iy. A 4

G4T, J10R, M20p, P43N, s90;1.
* 4 Mop b PazN

c. J10R d. G4T

. /1/";"':/1,\'“1 4 ‘

8
g

L)

(10)

(12)

7~
(13)

(14)

(15)

(16)

(17)

Find the next term 1/ 5; 211 57; o des iy
a 105 b. 138

C.

58 7 ?
Find the next term 24316
11/34 d. 12/35

Find the missing term: P3C,R5F, T8 LVig
E7
a.

The wrgng term in the series 225, 1 96, 169, 144,
121, 100, 77, 64, is:

a. 121 b. 77
c. 100 d. 169

PYi
What comes at the last place in R, U, X A,
...z 8. ?
a E bl JE
C G d H

PYQ
The mz’ssing term of the series 4,13, .. 49,
76 is
a. 26 b. 28
c. 30 d 32
7,26, 63,124, 215, 34 .
a. 511 b. 672
é 508 d. 556
4,6,9,135, 30375
a 40.5() b 20.25
c 40.75 d 60.25

T R

- i s
Find out the next term —
7,11, 27, 63, 127,
a. 511 b. 227
C. 5100 d. 255
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wber Series, Coding, Odd Mgy,

) Find the next terms-
¥

3/ 7[ 15’ 31] ?/ 127

& Z b. 63
C. d. 65

9) Find out the next term — —

19
6,13, 28,59, ?
a. 122 bW
= "--'!'17: S d. 112

(0) Fmd the rmsszng number ’Tlthe ouow c22
3,5519,7,41,9,?, 11, 109 fi lngserzeS?
a. 71l b

0> 69 479

‘ ) , PYQE
(1) Find the next number in the given sequence?
11,17, 39, 85, ?, 281, 447
5 2 138 b. 143
c. 153 d. 163

E PYQ Jun 23
(22) The number in place of question mark in: 7, 26,

63,124, 215,?, 511 is

a. 342 b. 343

. 441 d 421 ;

[ | PYQ Jun 23\
(3) Find the next number in the series: Q1F, S2Ep.

ueD, W21C,.....?

a. Y66B b. Y44B
e Y88B d. 766B
& - Answer Kqﬂ \

10 2@ 3 a
4 ¢ 5 b 6 d
7 c 8. ¢ 9 a
10 ¢ 1hgC 12 b
18 e 4 b 15 a
16 b 17 b 18 b
19 g 20 a 21 d
2 g 23 Ve

Number Series and Alphabet Series

Mock Test Questions

M 18,24 21 27,7, 30,27
& 33 b 30
Y i 21

)
g
(6]
g

57,11,7,35,67 -
23 b. 28
c. 30 d 19
Find the missing term of the number series 24,

60, 120, 210,?
a. 300
) 420

b. 336
d. 525

@

(11)

Find the missing term of the number series 48,

24,96,48,192, ...?

76

b 5
(7)  Find the missing term of the series 17, 14, 15, 12,
163, &
a. 10,11 b. 14,11
c. 17518 d. 12,13
(8 a_c ba_cach
a. abcc b. acba
* c beaa d. bcba
(9)  Find missing term 7, 26, 63, 124, 215, 342?
a. 391 b. 421
c. 481 d. 58
‘ RrL
(10)  Find missing term of the alphabet series ABD,
DGK, HMS, MTB, SBL?
a. XKW b. ZAB
¢ ZKLI ZKW
% ",“‘;! _ ?“ [I

Fzﬁd neat number in the following series 7, 11,
13,17, 19, 28,25;292

a.
C.

30
32

e e

Scanned with CamScanner




) Find out the letter series AZY, EXW, wu, ?
2.  MTS b. MOQR
L NRO al, LS

(15)  Find next number in the following series 7, 1,

13,17, 19, 23, 25, 29,7
a. 30 b. 31
gy 32 th 58

(16)  Which number should come next (7,13, 13, 14,

19, 157
a. il5;
c

(17)  Find out the next term of the series 4 25 12L,

289, = ‘%g%
a. 529 b 441 \ %'
c. 625 d. noneofthese
K mB0ct 21
(18)  Find next term of the serie. %’ geg 127,?
a. 164 I%
@ 216 d. 218
& MIPOct21

Which numb - hoc einext 7

~ MTPMarch22
(20) The missing term of the series 11 10 _27,66.5,
198.5
> a4 1 b. 16
@ 21 d 19

(21) What comes at last plac i R, , X,AD,?
a. E b. F I
/oA G d H

, —_—
Compiler CA Foundation Maths, LR and Stats

CA. Prangy Popat

. . «4
Find the missingte
series : 28

6, 34,7

in each of the following

) Fmd the mzssmg term of the following series - 3 7
w, \ 15 7,6399, 143
- 27 b. 35

=
(€3]
(o)

27) and the mzssmg term of the following series: 7
26, 63,124, 215, 342?

a. 391
C. 481

b. 421
ol B

(28) and the mtsszng term of theollowmg series: 3,7,

5,12,63,127
a. 30 b. 31
c) 47 d, 52

(29)  Find the next alphabet series in the given
sequence? ALN, DNR, GPR?
a.  KLN b. JRT

(30) Find the mzsszng number in the following serie
2,15, 10, 17, 267 "
a. 49 b. 47
c. 37 d 36
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o 1320 b 1020

4. To00 "SE AET
33) Identify the sequence of lette-

missing number. AGM, iy rs andﬁnd out the

a. MSY b. NTZ

¢ LRX 4. Kow ®
.(34) 105, 115.5, 150, 162.5, 203 —

a. 217 b. 2175

@ 210.5

d- None of these

1 ¢ 2. d 3

4 ¢ 5 q 6

7 a 8 d 9

10 d 11 p

13 d 14 4

16 b 17 q

19 d 20 qa

22" ¢ 23 ¢
25 b 26 b )
28 b 29 b

31 a 32 b

34 b

®

Coding and Decoding
*
Past Exam Questions .

@)  Ina certain code, RIPPLE is written as 613382
and LIFE is written as 8192. How is PILLER
written in that code?
a. 318826
@, 618826

b. 318286
d. 338816

W CA. Pranav Popat [[l7(efe] Compller CA Foundatlon Maths,

®)

el _FRPML d

9

@3) IfLOS

2468, what do figy
a.  NGLAI
GNLIA

If PLAY is coded as
as 49367. What wj,
6217
639,

IfH ed as JQPGA, which word is
o CTIGVU?

RPETS
TARGETS

b. TRAPETS
d. UMBRELU

in a Certain language, MADRAS is coded as
BESBT, How DELHI is coded in that code?
EMM]JI b. EFMI]

EMFI] d. JIFEM

In a certain code MADRAS is NBESBT now
DELHI is coded as:

a.  EMMJI b.

c EFMI]
¥

If HEALTH is written as [FBMUL, then how will

NORTH be written in that code?

a.  OPSUL b. GSQNM

IUPSO

JIFEM
d. CDKGH

Ina certain Code Language BEAT is written as

YVZG, then what will be Code for MILD?
a.  ONRW b. NOWR
c.  ONWR d. NROW

(10)  In a certain code RIPPLE is written as 613382,

and LIFE is written as 8192. How will RIFFLE
be written in that code?
a. 618892
@ 619982

b. 689912
d. 629981
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U L et
a 05 b 0119091805
¢ 0118190905 d. 0118091805

"@3) 1 CLOCK is coded as 34235 and TIME as 8679,

then MOTEL is coded as: e
o 27894 b, 72964 (22) Inacertain code, ME Coliie:
72894 d. 77684 LNEITNO. Howg, written AR
code? -
a QFSEELI b. ONESERP

(14) IfMOUSE, i Y is coded
) If is coded as 34651 and KEY 1s co 4 OERESTIN

as 217, then how will YES be coded? (
a. 715 b 517 .
¢ 175 i il 14/ 2 ¢ 3 4
. 4 a 51 NE 6 b
(15) In a certain code, MENTION is wrztten as 7 C 8 a 9 4
LNEITNO. How is PRESENT written in that 0 c 11 d 12 a
*  code? c 14 a 15 b
a.  NTSEREO b. OERESTN 7*' 16 d 17 4 18 b
G ERESTNO . d ROESTNE ) ) 195N¢e 20 d 21998
~ PYQDe1 228d

(16) In a certain code "THANKS is wrzttenégs ‘4;*{,; '

SKNTHA" then how is ”STUPID”“&zrltfeW
a.  DIPUTS b. DI&PJJ’I’ = Coding and Decoding

c. DIPUST DYPS‘TLI

_fﬂ LS O 5 YQ]””B 22 Mock Test Questions
(17) LOTUSis coded a5 14682 and STRANGE is

coded as 2690753 ¢How will you code GESTURE . :
(1) IfGARDENis coded as 3257 64 and WATER as

0. 523689 . 5326793
ol 534 93' N4 5326893 92165, how can we code the word WARDEN in
m PYQ June 22 the same way?
(18)  Code for word EARTH is 16235 and VENUS is a. 925764 b. 295764
91784 what is code for SATURN? 952764 d. 957264
0. 423827 b. 463827 i Aokl
c. 46387 7 d. 413827 ()  If F=6, MAT=34, then how much s CAR?

 PYQ Dec22 e 1 b 22

19) If’FROZEN’ is decoded as ‘OFAPSG'. Tick the e 2 . du8 .
right option that depicts ‘MOLTEN' written in a}f’f sM rli_

(3) Ina certazn code language “EXAM ' is coded a5

% thisway?
a. OFPOMN b. OFSMPN 39 ‘PAPER’ is coded at 51 then PASS is coded as.
C. OFUMPN d. OFUNPN a. 39 b. 47

e 489 (b ol

MCQ Compiler CA Foundation Maths, LR and Stats (SR W7 TAZTFT4
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a. CPNCBX
¢ CPOCBZ 1
Note: Ans incorrect in MTp

(3 If TWENTY is written as 863985 anc

GO =32, SHE = 49, y, . is written as 323039 , then
@ a 56 % : Ohgg will be equal to coded

: . 8 33
o 62 e a 63203 b. 863302

863320

C.

d. 683302

6 na certain Code CEB
ERMBCEDE. Which, word w
ERMBVENO in that code?

R is written a
ill be written g5

) N a. AUGUST b. SEPTEMBER
N S R Sy
| i st b W Ui T o
(7) If SUMMER is coded as RUNNER gy, code for
o\ WINTER will be
iy a.  SUITER b.  VIOUER G Bl
M ¢ WALKER d_SUFFER 6 is coded as 73541 and CALCUTTA as
by B MIPMay 19 Series Tl - ErrordiiiD S\, 82589662, then CALICUT be coded as?
byl (8 Inacertain code KAVER] i written as VAKIRE, . - 8251896 b. 82518 69
Iy How is MYSORE written in that code? P c. 8521896 d. 8258196
1 a.  EROSYM b. SYMORE T
¢. ~ SMYERP d. SYMERQ (17)  In a certain code, "Delhi is capital” is coded as "7
Note: Ans incorrect in MTP R Dy, Y 59", "capital are beautiful” is coded as "3 6 97,
e e #MIP Nov 19 "Delhi is beautiful” is coded as "6 7 5", "Patna
(©) Inacertain language TWINKLE is written as also capital” is coded as "9 2 4”. What is code for
SVHOJKD, then how would FILTERS be written "beautiful” ?
in the same code? _ ' a. 2 b. 4
a. EHKUDQR b. ITNFKD C. 6 d 9
. KVOHMF ~d.  TIMFKD Note: Ans incorrect in MTP
L S MIPNovi9 i
10) If MEAT’ is writtenas ‘TEAM ', then ‘BALE’ is (18) If 'SYSTEM' is coded as 131625 then ‘TERMS
written as “will be coded as ?
a. ELAB b. EABL a. 62251 b. 62451
¢.  EBLA d. EALB . 64251 d. 62415
-, MTPMay20, Lo SR MT
M) In a certain lan guage, FLOWER is coded (19)  In a certain code 'SOUTHERN' is written as
UOLDVI, then how is TERMINAL coded in that ‘UVPTMQDG'. How is ‘MARIGOLD written &
language? X in that code? ol ,J;
4. FLKPMROZ b. GVINRMZO a.  JSBCNFKS b. JSBNHPME
¢ RVNIGLKA d. MNIVGYEO ¢.  JSBNCKNF d. NBSKCINF fi.aﬁ
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'(22) IfROSE is coded as 6821, CHAIR is coded as
73456 and PREACH is coded as 961473, what

will be the code for SEARCH?
a. 246173 b. 214673
c. 214763 d. 216473

(23) IfE=5and READ is coded as 7, then what is the
code of 'DEAR" ?
3G 4 6

b. 7
@ 8 9

In a certain code TELEPHONE is written as g
ENOHPELET. How is ALIGATOR written in\

that code?
a. ROTAGILA
e ROTAGILE -

b. ROTAGAIL § :‘
d. ROTEGIM

‘GTRKF’. How is ’SIGHT’ rzﬂ' that code?
> 4 UGHHT HJFW
WP]GV_ d WGJHV

P Dec 22 — Series I

Ina certam code, Tl
VGCEJGT,
code?

a. EJKNEGTP b.
G E ]KNFGTO

(26) 4
ow is GHILDREN written in that

EGKNEITP
th b E]KNFTGP
In a certain code languuge 253 means 'books
areold’; 546" means "'man is old’ and ‘378’

27)

% means 'buy good books’. What stands for ‘are’ in
that code?
a. 2 b. 4
c 5 d. 6

MCOQ Compiler CA Foundation Maths, LR PRI 2d| CA. Pranav Popat

33)

(30)

@31

(34

QF DTR 0 HQFZ

icodelanguage, if TOUR, is wrif
LEAR is written 5678 and SPACE
as 90847, Find the code for TEARS 2
14847
17849

wri
a. 17847 b.

P d.

(e

If ROSE is coded as 6821 CHAIR is coded as
73456 and PREACH is coded as 961473, what
will be the code for RESEARCH?

a. 61246173
c. 61216473

b. 61214673
d 61214743

In certain code languuge BOARD is coded as
CQDVI, what is the code for the word
CONSULTING?

a. DQQWZRARNQ

b. DQQWZARQWQ

& DQQWZRAQWQ

d.  None of these

In a certain code language if CAMP is written s
9, then in the same code how will the word a

TEAM be written? 2
| b. 19 ‘g
¢ 27 d 33 ol
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:
Q
g
§
g

a 2 p
4 b 5 a 2d
7 b G0 o
10 d 11 p G
112 g
13 a 14 4 15
(¢}
16 a 17 ¢ 18 b
19 c 20 p 27 4
22 b ;2” %4,
25 d 2d 27
3;‘1 2 b 33,
34 c

Odd Man Oyt

Past Year Exqm Questions

K PYQ Now. 18
(1) Find odd man out oftlwfollowing series 15, 21,
63,81, 69
a. 145} b. 21
G 63 d 81
PY
(2)  Find odd man out oftlwfollowmg 779, 13y17, 19
a. 7 b. 9
C. 19

d. 13
N  PYQ June 19
@)  Which of the following is odd one 4, 12, 44, 176,

890..........
X a4 b. 12
G 44 d 176
y | PYQ June 19
@ Which of the following is odd one?
a. CEHL b. KMPT
. 0QTX d. NPSV
PYQ Now. 19
) Find the odd man out 5, 10, 17, 27, 37:
a. 5 b. 17
R d. 10
L8 PYQ Nov. 19
(6)

SYSTEM is coded as 131625 then TERMS will
be coded gs?

a 62251 b. 62
C. 64251 Cd. 62415

‘[93 Z~

/ CAPRANAV b 4 e o

)

(7)  Find the odd one out: 1, 5, 14, 30, 49, 55, 9
A a. 49 b. 30 '
e 55 - 4 9

() Which of the following is the odd one: 6, 9, 15, 21,

24, 26, 30.
a. 30 b. 24
@ 26 d 9

(9  Find out the odd man out in the Sequence 8, 25,
64, 125, 216.

a. 25 d%;

(¢, “'
T T
(10)  Find the odd @

a. Zebza b. Giraffe

N H
(11)  Find. the odd man out:
34,108,424, 2123, 12756
\ 2 1275 b. 2123
w \c w4
“12) Out of following 41, 43, 47,
odd man out shall be
a. 95 b. 83
& 71 d. 53

d. Tiger

PR ;& 2
53,61, 71, 83, 95 the

' - EXJun 2o
(13)  Find the odd man out in the following series: 190,
145, 136, 352, 460, 324, 631, 244.

a. 136 b. 244
c 460 d. 324
" AnswerKey S

1 d 2 b

4 d 5 @

7 a 8 ¢

10 d 11 b

13 d

Odd Man Out

Mock Test Paper Questions

1) 1,49, 16,20, 36, 49
a. 1 b. 9
e 20 d 36

%
MCQ Compiler CA Foundation Maths, LR and Stats

CA. Pranav Popat
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| odd man out of the series 5, 10, 17, 25 (14) Find out the wrong number 2, 10,

b. 10
’ 486, 1458
d 25 T N10

o 54 Ny 1.

(5)  Find odd one out of the series 7, 9, 11,12, 14, 15

: ;5 z ;4 (15) Find out the @ untber 10, 14, 28, 32, 64,
: 68, 132 —
(6)  Find odd one out of the series 37, 45, 49, 65, 79 I g . d' 132
a. 37 b. 45 - X '
C 49 d. 65

(16)  Find togong number of the series 1,5, 5,9, 7,11,

(7)  Find out the odd one out of the series 5, 27, 61, 11, 15,12, 17
122, 213, 340, 509 a. 11 b. 12

ay W2/ b. 61 C. 17 d 15
C 122 d. 509

ATP | - :') (17)  Find odd man out of the following series 3, 4, 10,
(8)  Find the wrong term of the series 121, 143, 16 ) 32, 136, 685, 4116

186, 209 a. 10 b. 32
c. 136 d. 4116
2% e
(18)  Find the odd man out: 34, 105, 424, 2125, 12755,
Fmd odd man out of the sertegd45, 197, 257, a. 12755 b. 2125
G; 424 d. 34
1 ¢ 2 b 3 b
4 d 5 b 6 ¢
(10) ' : 7 a 8 ¢ 9 b
47,53,61,71,73, 81 10 d 11 b 12 d
a. 41 b. 47 13 d 14 b 15 d
¢ 61 d. 81 i 16 b 17 b 18 a

(11)  Find wrong number of the series 22, 37, 52, 67,

84,97
a. 52 b. 84
o .. 97 d. 67

CA. Pranay Popat
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dtrechon. In which d".{, j
a. North — West .

'Y()

ngin the mormng facmg the
he turned to e left, later

@ Raman starts alkz
sun. After sometime,

"".:ni"ﬁli “71 |
again he turtted to his left. In yphqs direction is (8) A man stands ¢ 0 e
Raman moving now? towards ng ‘
a.  East b. West
S South d ~ North
L) ‘ PYQ May 18

B) You 8o North, turn right, then right again and
then go to the left. In which, direc

tion are you L RXY
now? man started from a point facing north, then
& South b.  East % turned left, then again left, and then right. In
- C West d.  North \ ¥ which direction he is facing now?
.3 : PYQ No?,, QN b West
(4) A man started to walk East, After moving Il & North d. South
distance, he turned to his right. After moviy PYQ Nov. 19
distance, he turned to his right a r (10)  Rohan is driving cycle from house towards
moving a little he turned in ¢ 0 his eft north, he turns left and then left again. Which
In which direction was he gﬁ@ow » direction he is facing now?
a East b. “West a.  East b.  West
c.  North d. South ¢.  North d.  South
- PYQ June 19 PYQ Nov. 20
()  Sangeeta lezgzeg#r er home. She first walks

(1) A man is facing west he turns 45 degrees in the
clockwise direction and then another 180
degrees in the same direction and then 270
degrees in the anticlockwise direction. Which

30 meters in north-_west direction and then 30m
in south wesﬁdarsdtzon next she walks 30
meters in south-east direction. Finally she turns

towards her house. In which direction is she direction is he facing now?

moving now. a.  South—West b, North—West

a.  North—West  b. North— East ¢ West d.  South

¢ South— East d. South — West PYQ Jan. 21

(12) A man s facing west. He turns 45" in the
clockwise direction and then another 180° in
the same direction and then 270° in the anti
-clockwise direction. Which is the facing now?
a. South — West b.  North — West

c.  West d. South
"Q Compiler CA Foundation Maths, LR and Stats || & W21 10 2 L /
—_— —

| -
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Finding Final Direction

South — East e 22 M lock Test Paper Questions

(15) A sign board pointing direction towards north VTP )
due to heavy wind. The points of sign word 1) \ Mohan starts from point A and walks 1
3+ shows west instead of North. If a persont gues owards south, turns left and walks 1 ky,
to same direction of pointer. He rlngges 1t00 o he turns left again and walks 1 kim. Now e j
meter than turn left, and moves 100 meter acing
again turn left and move 100 meter tifan he £ East b, West
turn right & moves 100 meter. In which 3 North d.  South-wes}
direction he is now? ; r MTP )
a West b. E (2)  Roopa starts from a point and walks 15 metye
| c. ___IN"’”' d. 2 towards west, turns left and walks 12 metre,
(16) If Iia:nfaces Wi d km in H{:m ‘ turns right again and walks. What is the
U est and m < ootion she is i o?
direction then takes a left turn ind moves 10 km Zlmtu;’;;;; b s au”‘g’; ool
> then take another deftgurn and moves 15 km in c. East d. o
same directio 08 10 km in the north ' MT a1
jrecti ‘ What is the " P May1
direction and reacheSpoint A. What 15 : ) :
A ; 3 () A car travelling from south covers a distance of
distance beftggen Hhe starting point and A and ,
BN e 5 : 8 kms, then turns right and runs another 9 kms
in which direction is Ramu facing now? * 1 aeain turns to the right and wisakITD
o 10km, North b, 5km, South an .aga;;.z illillb ; ‘u‘ rig 1: an ;4 as stopped.
. 10 krm, South 4. 5km, North Which direction does it face now:
' a South b. North

‘-1!_-1 ¥ PYQ June 22 '
(17) A person facing in North moves 70" in S 4l
Clockwise direction. He again moved 300" in
anti clockwsise direction. In which direction is
he facing now?
a. North — West b.  South - East
e} North — East d. South — West

MCQ Compiler CA Foundation Maths, LR
L S
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)

(6)

@)

®)

9

SW for lunch. After sop, rest, he a:gain
turned left and drove 20 ks pe cfore stopping for
evening tea. Once more he turned left and dg

30 kms to reach the town where he had sy e
After evening tea in which direction did ther.
drive?

a. West b Bk
2 North d.  South
MTP Nov 19

A man starts for his office in the North
direction, he turns to his left, and then to his

right and again to his right. In which di
he will be facing? irection

a.  North ot
C. East d. North
MTP Nov 19

Pramila is going towards East. She turns left,
moves on same distance and again turns to her
left. After walking some distance, she turns to
her right and moves on. In which direc tion she
is going now?

a. North b.

C. North-West d.  West

MIP Mij20"
A man is facing towards East and#urns through
45° clockwise again 180° clock wise.and then
turns through 270° anti-clogk wise. Inwhich
direction is he facing now?
a. West b. North- East
c. South d.  South-West

o~ MTP May 20
Facing towards North, Ravi walks 35 m. He
then turns lefbandwalks 55 m. He again turns
left and walks 35 m. How far is from original
position and towards which direction.

a. 30 m, North b. 20 m, East
e; 55 m, West d. 20 m, South
MTP May 20

Raju is facing East, he turns 100°in the
clockwise direction and 145° in the anti-clock
wise direction. Which direction is he facing

now?
a. West b. North-East
c North d.  South-East

South e »

A Foundation Maths, LR

and Stats

s birn again to the rxght o ri

direction is he moving?
a. North

b. West

c. South

d

North

(11) A man stands ona pomt and starts walkmg
towards north then turns lefPthen turns right
and then left in which diréctiog he is moving.

b

a. West ! th
VSouthA ikt
 MTPApra1

G: East
ance of 75 meters towards

(12) Ramu moyeds@

North. @ ed to left and walking for
abo wLurted left again and walks 80m.
Fi 1e turned to the right at an angle of

45°, Imgohich direction was he moving finally?

\ a. South-East b. South-West
oy, \C North-West d. North-East

Wy

_Note® }lnswer incorrect in MTP
MTP Apr 21
. (13)  If a man on motor bike starts from a point and
rides 4 km South then turns left and rides 2 km
and turn again to the right to ride in which
direction is he moving?
a.  North b. West
6, South d. North
MTP Nov 21
(14)  Sanjay started from his house towards west.
After a walking a distance 15 km he turned to
5 the right and walked 10 km, he again turned to
the right and walked 5 km. After this he turns
left at 135° and covered 10 km in which
direction should he is going?

a. South b.  South-West
@ South-East d.  North —West
MTP Nov 21

(15) Mamtha moved a distance of 75 m towards
north, then she turns to the left and walked to
s about 25 m, turned left again and walks 80 m.
Finally, she turns to the right at angle of 45°. In
which direction was she is moving finally?
a.  South-East b. South-West
c.  North-West d. North-East

CA. Pranav Popat
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2) Amanis facing west. He turns 4 }
clockwise direction and then another

same direction and then 71
anticlockwise direction.
e : facing now?

@ North-East b North-West o South

G} ‘South-East , d South-West ) West
ISR E, o

(18)  Aboy from his home, ﬁrst walks 20 m in North- (23) Shweta

West direction then 20 m in South - West the
direction. Next, he walks 20m South - East w aut 25 meters, turned left again and
direction. Finally, he turns towards his house. walked§0 meters. Finally, she 'turn.ed 7 the
In which direction is he moving? right at an angle of 45°. In which direction was
a.  North - West b. North-East she moving finally?
; .c. South—West  d. South- East e a.  South b.  South-West
g MTP June 2 ]\ c.  North-East d. North-West
(19) Ravl started from the house towards West. Ny MTP Dec 22 Seri’e’s‘;’ﬁ

After walking a distance of 30 metres, he u@w (24)  Pankaj is facing west. He turns 45° in the
towards right and walked 20 metres. "@ { clockwise direction and then again another
turned left and moving a dzstanw _ turns with 180° in the same direction Le.
turned to his left again and walked 40 metr clockwise direction, after that he turns 270° in

He now turned to the left a a5 metres. the anticlockwise direction. Which direction is
Finally, he turned to his left\lst which direction he facing now?
was he walking now? a.  North-West b. West
a.  North b.  South c.  South-West d.  South
c.  East . South-West MTP Dec 22 Series Il
MTP June 22 (25)  Aman is facing north. He turns 45 degree in
(20) Iam facing Seuthsl turn right and walk 20 the clockwise direction and then another 180
meters. Then I turn right again and walk 10 degree in the same direction and then 45 degree
meters. Then I turn left and walk 10 meters and in the anticlockwise direction. Find which
then turning right walk 20 meters. Then I turn direction he is facing now?
right again and walk 60 meters. Which a. North b. East
direction am I facing now? c. West d.  South
a.  North b. North-West
c.  East d. North-East
Note: Answer incorrect in MTP
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m Direction Test " E

Findine Divection fros

same  direction  apq then
anticlockwise direction, Fiyy Which direction % \ om
s facing now? Bt Bl
a,fm South ~ East b, West (1) Laxman went 15km to North then he turned

270" in the Past Year Question

West and covered 10 kms, Then he turned South
and covered 5 km, Finally turning to East he
covered 10 km. In which direction he is from his
house.

a.  East b. West
c North A4 South

2)  Amanis facing East, tutns left and goes
10 meter then turgg %gaes 5 meter then
goes 5 meter to 4@', thand from there, 5
meter to @ Which direction is he from his

C South

d. South -
Ansiver West

2
5
8
1

o o W

1
14
17
20
23
26

12
15
18
21
24

—
L= 2N
RN NN o"T S o
|V ST O QAL AN n 0 g
a Q8 TS TS S N N

original p

a, ot b. West
(&) orth d.  South
PYQ Nov. 18

@)\ Anoop starts walking towards South. After
. \walking 15 meters, he turns towards North.
= f’t’/lfter walking 20 meters, he turns towards East
" and walks 10 meters. He then turns towards
south and walks 5 meters. In which direction is
he from the original position.
a.  North b.  South
2} East d. West
PYQ Nov. 18
(4)  Rahim started from point X and walked straight
5 km west, then turned left and walked straight
2 km, then again turned left and walked straight
7 k. In which direction is he from the point X?
a. North-East b.  South-West
G South-East d.  North-west
PYQ Nov. 18
(5)  Manu wants to go to the market. He starts from
his house towards North and reaches a crossing
¥ after 30m. He turns towards East, goes 10m till
the second crossing and turns again, moves
towards South straight for 30m where
marketing complex exits. In which direction is
the market from his house?
a.  North b.  South
(] East d. West

| —

— = SR 1 /
to Cmpl/or CA Foundation Maths, LR and Stats [Nl 1 / m/
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(12)  Thereare four towns P, Q
South — West of P, Ris 0
South — EastofP is to

. North east b South east line with QP. In,
. South west d. North west located?
, B .19 a. No
(8)  Sun rises behind the tower and sets behind the , 5 E : d South - Easf
railway station. In which direction is the tower ' o PO
from railway station? , (13) efour towns P,Q R, T.Qistothe
a.  North i b.  South southavest, of P, Ris to the east of Q and
c. East d. West %% south—east of P and T is to the north of R in
RS PYQ Nov20 Q line with QP. In which direction Tis located
9)  Ifyou are facing North —east and move 10m (. wrt P?
forward, man left and move 7.5m, then you arx \ a.  North b. North — East
5 a Northof your initial position c. East d. South-— Ea;t 7

b.  South of your initial position

c.  East of your initial position

d.  None of these Ve
Note: Ideally it should be NE but according/toop
given option a is more appropriat ‘

Five friends A, B, C, D, E are staying in the
same locality. B’s house is to the East of A’s
5t house and to the North of C's house. C's house
is to the West of D’s house. D’s house is in

PYQ Nov. 20 which direction with respect to A’s house?

(10) A man can walk by having long, medium and a.  North—East b.  South — East

short steps. He cdnscover 60 meters by 100 c.  North—West  d. South—West
5 longsteps, 1 n%ZOO medium steps L PYQDE&

and 80 meters by 200 short steps, he walks (15) A person walks 1 km (kilometer) towards West

taking 5000,long/steps, then he turns left and and then he turns to South and walks 5 km.

walk by taking 6000 medium steps. He then ¥ Again, he turns to West and walks 2 km. After

turns right and walk by taking 2500 short this he turns to North and walks 9 km. How

steps. How far (in meters) is he away from his far is he from his starting point?

starting point? a.  3km b. 4km

a.  5000m b. 4000m ¢ Skm d. 7km

c.  6000m d.  7000m

;W CA. Pranav Popat 0 Compiler CA Foundatlon Mat s, |

Scanned with CamScanner




17)

(18)

(19)

(20)

E—

Daily in the morning tne -\~ k
Tower installed on Railway gz:z{of;al(ljoc,(
high rise Mall and in th, evening the shs Zn
of the same Mall falls oy, 4p,, Clock To "
installed on Railway Stay;, exact] S:r'
which direction is Clock Tower to I\%all’ ¢

4, Eastern side :

b. Western sig,
: e
¢.  Northern side d. Southern sige

By
If there are 8 polls from A B,C.D EQ Pfuge :{2

A.
a. North b' West
c.  South d e
PYQ Dec 22

Radha moves towards South — E
of 7 km, then she mopes towa
travels a distance of 14 k.
moves towards North — Wegt 4 distance of 7
km. and finally she moyes 4 distance of 4 km,
towards East. How far is she
starting point?

a.  3km b,
c¢. 10km d

ast a distance
rds West and
From here she

4 km
11 km
MQ‘ﬁn 23
Deepika starts walking straiglt, towards eqst,
After walking 65m, she tutnsito the left and
walks 25m straight. Again she turns to the left
and walks a distance of 40m. At what distance
and in which direction currently she is from the
initial point?

a. 35.35 m in North-East
b. 35.35m in South-West
C. 25m in North
d. 25m in West

PYQ Jul 23
Sunita walks a distance of 2 km towards East,
turns left and moves 1 km, then turns left and
moves 2 km and then turn left again and moves
I km, then halts. At what distance Sunita is
now from the starting point?
a 0km b.

2 km d.

1 km
6 km

now from the,

co Compiler CA Foundation Maths, LR and Stats
k —

&

CAPA’ANAV / Direction Test T

1 ¢ 2 ¢ 3¢ N
4 ¢ 5 ¢ GG o
q 8 ¢ 9 a

10 a 11 d 12 b

13 b 4 b 15

16 a 7 @ i @

19 b 20 a

Finding Direction from Starting Point

Mock Test Paper Questions

Arun Started fr A and Walked 10 kms
East to Point B’ turned to North and

fins togotnt C and then turned West
% to point D , then again

and walked 3 kms to point E . In

whichdirection is he form his starting point?

\ o East b. South
%“ c.  West d. North
MTP May 19
@), Ramu walks 5 Kms starting from his house

3)

@)

CA. Pranav Popat |

towards west then turns right and walks 3 km.
Thereafter he takes left turn and walks 2 km.
Further, he turn left and walks 3 km. Finally, he
turns right and walks 3 kms. In what direction
he is now from his house.

a. west b. north
C. south d. north
MTP May 19

A man is facing East, then he turns left and goes
10m then turns right and goes 5 m then goes 5
m to the South and from there 5 m to West. In
which direction is be from his original place?

a. east b. west
C. north d.  South
MTP May 19 Series IT

A man is facing East, then he turns left and goes
10m then turns right and goes 5 m then goes 5
m to the South and from there 5 m to West. In
which direction is be from his original place?

a. east b.  west

. north d. south

fo |

Scanned with CamScanner



~ tohisleft to walks another 20 feet, In which
direction is the child from his starting point?
a. north b. south

€ west d.  East

@) Rajio walks 10 m South from his house, turns -
left and walks 25 m, again turns left and walks
40'm, then turns right and walks 5 m to reach

the college. In which direction is the college from
his house

a, North
¢, North-East

b.  South-West -

L} >
d. East \ Y
MTPA* \ ¥
(&) Kiran walks 2 ki towards North then he turn ‘
East and walks 10 km, After this he tur,

% and walks 3 km Again he turns tobands st
and walks 2 km. How far from ;
point?

a, 10 km b, km
) 15 km d. km

MTP Nov 21

©)  Whenqa Persnufaces forth and walks 25
right, and )Gn)l tand walks 20 m and

again he ty tand walks 25 m and turns

i he walks < m
the right and moyg
direction is he @
a. So &

A

right. After walking 3 km he turns to the left "‘
and walks 5 km. Now in which direction is he
from the starting place?

a, East b.  South
C. North — East d.  South 2 ‘W_est
Answer Key f.
1 2 a 3 e
4 ¢ SIh 6 d
7 ¢ 8 b 9 ¢
c 11 q 12 4

Other Problems

Past Year Questions

PYQ May
(M Istand with Y right hand extended side-ways
right25 m and turs right and walks 40 m iy, towards south, Towards which direction will my
which direction is e now from his starting back be?
point, a. North b.  West
a, North-West b. North ~Egst o East d. South
¢ South- Egst d. South-West PYQM
Note: Incorrect Ans iy Mtp @) One day, Ran, left home and cycled 10 km
Southward, turped yi 8ht and cycled 5 km and
g furned right and cyeled 10 km and turned left
and cycled 10 km, Hog many kilometers will he ]
have to cycle o reach his home straight?
a0 b. 15 i
¢ 2 d. 25 |
m [M, €Q Compiler CA Foundatinn Masten 15 ann
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walking. If A and B walk

‘ : with the same speed
what is the distance betweey, them now?m ’
a  80m b. 70m
3 40m d 60m

= : : PYQ Dec. 21
(5) R'sofficeis 4 ki in Fast direction from his

| home and club is 4 km in Norg, direction from
s his home. On midway from office to club, R
starts moving towards his home. In which
direction is he facing his back?
a. South - East b.
C. North - East d.

North - West
South - West

(6)  The hour hand of a clock is in west direc

when time is 30 clock. What is t} ‘ctign of
st minutes hand when time is 6:451
a. East l}/‘?s

C. North AN\ Qu!h

PYQ June 22
One day Ram left N and cycled 10 km
southward, tygued wght #d cycled 5 km and
turned n‘\'hl".md qd’cd 10 km and turned left to
cycle 10 kml\uuzg many kilometers will he have
to cycle to reach his home?
a 10 b. 20
. 15 d 25

s'F

c.q -

a.

C:
T omes oo
a0) Mr. Ka '

SUC { 14
to Ractifin which divection the
will phigt at 9:15PM?

a. South-East b. East
c. West ‘ d.  South-West
FESERGRY. o =

Shrikant is facing East and turns 120° in the
clockwise direction and then turns 180° in the
anticlockwise direction. Which direction is‘

Shrikant facing now?
a.  East b. North-East
c. North

d.  South-West

(12)  Five boys Ajay, Brijmohan, Chandru, Dheeraj,
and Eshaan are sitting in the park in a circle
facing the centre. Ajay is facing South-West,
Dheeraj is facing South-East, Brijmohan and
Ehsaan are right opposite Ajay and Dheeraj,
respectively and Chandru is equidistant between
Dheeraj and Brijmohan. Which direction is

Chandru facing?

a.  West b.  South

c.  North d. East

AnswerKey

1 b 2 b 3.0

4 ¢ 5 ¢ 6 a

7 ¢ 8 b 9 d

10 ¢ 11 b 12 d

——

CA Foundation Maths, LR and Stats
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the North-East be?
a. North
.~ South
Town D is 12 km towards the North of A. Town I
Ciis 15 ki towards the West of town D. Town
Biis 15 km towards the west of town A, how far

£

[ stand with m hand extended md&w“; |

ich direction will
and which direction is town B from town C ? towards south. rds which direc :
' be?

a. 15 Km towards North gack b. West
b. 12 Km towards North & o d.  South
C 3 km towards South 4 : P L "'U/i’ 00 2]
4 12 Rl outh MTP May 20 94 Kamal starts from point ‘O” and mc;ved toz;:;rds

- he turns right and move

(3)  Ram start moving from a point, facing in East North 2 km, then he g

: ds North and walked
direction. After walking 15 m, he turned to his -~ again he tur}::?: ;:Za;:ind 1o i
left and walked 25m, before turning to his right. N \;\,:’% up tol km::ac ‘
Then, he walked a distance of 35 m, then turned %, . between OA.

AN 7
to his right and stop after walking further a ‘w a. Z Z .
distance of 25 m. Find how far Ram is 1 A C. 5 —
starting point. MTP Nov21

a. 20m b. 5 (10)  Raju Walked from A to B in the east 10 m, then
c. 15m d. he turns towards right and walked 3 m. Again,
Q Nov 20 he turned to the right and walked 14 m. how far
(4)  IfEast is replaced by South-East, then West is from is she from point A?
will be replaced by.which replaced by which of a. 4 feet b. 5 feet
the following direckiorié® c. 12 feet d. 13 feet .
a. Nortk-East MTP Oct 21
b. NorE) (11)  Ravi wants to go to the College. He starts from
c.  East his home, which is in the East and comes to a
d North-West g

crossing. The road to the left ends in a theatre,
straight ahead is the hospital. In which direction
is the College if college is neither in direction
of theatre nor in the direction of hospital?

MTP Nov 20
(5)  Hema walks 30 km North. Then, she turns right

and walks 30 m then she turns right and walks
55 m. Then she turns left and walks 20 m. Then

a.  North b.  South
she again turns left and walks 25 m. How many c. East d. West
meters away is she from her original position. Note: Que and Ans - not correct in MTP
a.  45m b. 50m
6 66m d. 55m

e -
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; : ; he from his initial position?
Zzthte,::thp:;zégmfar ' the starting point from e
I o o @) 50 m d. 80 m —
¢ 10m d. 11m R e S
aju starts walking straight towards East.
oD start s MTP Qct 21 After walking 75 metres, he turns to the left and
@) A Mg towards each other from walks 25 metres straight. Agliin, he turns to the
two places 200 m apart. After 1k 60m, B I lks a di gnt. s b
turns left and goes 20 m, they, e turns ri }lzt eft,-wa e > Stng. 7
and goes 40 m. He then tyrng Al aing ’ again he turns to the:’ nd walks a dfstance of
comes back to the road on whicy, he hfd staarrtled : 25'me?tres. How SR8 et iaes
walking. If A and B walk with 1, same speed g
what is the distance betweer, them now? : o : - 0 g
) 20m B S ; @ 115 d. 35 meters .
o i ! 0 : 'MT.P'Dec 22 — Series I
MTP March 22 19 v infhe East of X which is in the 'Nort.h of Z
(1) Mis tothe East of D, F is to the Sz Tt \ g} I; zi‘m% ihe South of Z, then in which direction
Kis to the West of F. M is in which, direction w, \\ a. / N(;rth b.  South
gt 0 K7 . South-East d. South-West
o soulh-West b North-West ~ MTP Dec 22 - Series I
&) North-East d.  South-East — (20)  Five villages P, Q, R, S, and T are situated close
. MTP METCM to each other. P is to the west of Q, R is to the
(15) A cyclist goes 30 km to North and then burriing south of P. Tis to the north of Q and S is to the
right to goes 40 skm. Again he tursis'to his right east of T. Then, R is in which direction with
and goes 20 km. After this he turns to his right respect to S?
and goes 40 km. How far isthe from his starting a. North-West b. South-East
point? c. South-West d.  Data Inadequat
a. 0 km b. 10 km MTP Dec 22 - Series I
c. 25km » d. 40 km (21)  If South-West becomes North, then what will
- 3 P MTP March 22 North-East be?
(16)  Raju leaveshis house.and walks 12 km towards a.  North b.  South-East
North. He tugns right and walks another 12 km. ¢ South d. East
He turns right, walks 12 km more and turns left MTP Dec 22 - Series I
towalk 5 km. Houw far is he from his home and (22) Inaclock at 12 : 30, hour needle is in North
in which direction? direction while minute needle is in South
a. 7 km east b. 10 km east S direction. In which direction would be minute
¢. 17 km east d. 24 km east needle at 12:45?
a. North-West b.  South-East
C. West d. East
e —

Rakesh moves towards % ¥ 2
7 km, then he moves tozizuth g e 7

distance of 14 m. From he
North-west a distance of
moves a distance of 4 1,

(17) A child goes 50 meter towards South and then
rds West A el . Tho
; and travels q turning to his right, he goes 50 meter. Then,

€ he moves towards turning to his left, he goes 30 meter. Again he

7 m and finally pe turns to his left and goes 50 meter. How far is
towards East and sooqd

(W

I——— -
— - t
L“"Pllor CA Foundation Maths, LR and Stats | CA. Pranav Popa i m
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(25)

(26)

a. South b. North 2
C. East : d.  West :
I June 2023 Series 1 .

27)

8)

ies I
P, Q, R, and S are playing a game of carom P, R ;g
and S, Q are partners, 'S’ is to the right of 'R’. 3 p
If 'R’ is facing West, then ‘Q” is facing which
direction? .

Q) S G IR
(I ey ey Esi (i) £ (S0

—~

o )
S A0 0 A S o a0 s

QU ST o ]
[N}
[e)%

\§

-

One morning a boy starts walking in a \
particular direction for 5 km and then takes

left turn and walks another 5 km, therea er
again takes left turn and walks another ‘
and at last he takes right turn and.val
Now he sees his shadow is front ofh
direction he did start initia
a. South b.%North
& West d. st

MTP June 2023 Series I
Itis 3’0 clock i Af the minute hand
points towdrds the.North — East then the hour
hand will point towards the

a. South b.  South — West
@ North — West d.  South - Egst

: MTP June 2023 Series I1
Ram walks 30 kim East then tyrns right and
walks for another 16 km. He they again turns
right and walks for another 16 km. He then

tuns left & walks for another 14 km. Then he
turns right & walks for 14 How far is he
from his initial point?
a.  26km b. 24km

c.  22km d. None of these

e —

N\
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Linear Arrangeme ;
angements in \]”,\.]‘ rou

) AR
Past Year Questions

Fit{e boys A,. B, C, D and E are sitting in a row.
Aisto fhe right of Band E is to the left of B but
to the right of C. A'is to the left of D. Who is

second from the left end?
=i d. B

n) Five senior citizens are living in a multi-
storeyed building. Mr. Manu lives in q flat
above Mr. Ashokan, Mr. Lokesh in a flat below
Mr. Gaurav, Mr. Ashokan lives in a flat above
Mr. Gaurav and Mr. Rakesh lives in a flat below
Mr. Lokesh. Who lives in the topmost flat?

a M. Lokesh b.  Mr. Gaurav
s Mr Manu d.  Mr. Rakesh
G IR 2 )1

@) Sixchildren A, B, C, D, E and F are standing in -
a row. B is between F and D. E is between A %
and C. A does not stand next to F or D.'€ ii'oes‘
not stand next to D. F is between which ofithe
following pairs of children?

a. Band E b.+ BgndC
_c Band D d Band A
- N, PYQMay 18

(4)  Five children are sitting in a row. S is sitting
% next to P but not T. Kis'sitting next to R, who
is sitting on'the extreme left and T is not sitting
next to K. Who is/are adjacent to 5.
a. K+P b. R+P
G Only P d. Pand T
E PYQ Nov. 18
(5)  Eight persons A, B, C, D, E, F, G and H are
sitting in a line. E sits second right to D. H sits
% fourth left to D. C and F are immediate
neighbours, but C is not immediate neighbour of
A. G is not neighbour of E. Only two persons sit
between A and E. The persons on left end and
right end respectively are
a. Gand E b, BandE
¢. HandE d. GandB

*Q Compiler CA Foundation Maths, LR and Stats [

(7)  Fivestudents A, B, C,
a row. D is on the right of E, B is on the left of
E but on the right of A. D is next to C on his

left. The student in middl
a. B NE
j d.

-

~(9) \Inastraight line, there are six persons sitting in

"3 row. B is between F and D. E is between A

/™% and C. A does not stand next to F or D, C does
not stand next to D. F is between which of the

following persons?

a. BandE b. BandC

c. BandD d. Band A
T

(10)  Five children are sitting in a row. S is sitting
next to P but not T. K is sitting next to R. K'1s
sitting on extreme end. T is not sitting next to
K. Who are sitting adjacent to §?

a.  KandP b. RandP
c. Only P ~d PandT
et

(11)  Five boys A, B, C, D and E are sitting in a row.
Ais to the right of B and E is to the left of B but
to the right of C. A'is to the left of D. Who is
second from the left end?
a. D

b A
e B d B

1

CA. Pranav Popat
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[ J ey )
b B
d E

persan are standmg in aline. One of the 2
persons at the extreme ends is a professor and
the other is a businessman. An advocate is
standing to the right of a student. An author is
to the left of the businessman. The student is
standing between the professor and advocate.
Counting from left, the author is at which
place?

a. 2t g - G

c. 4 d.  None of these

Five girls G, H, I, ], K are sitting in a ro
facing South not necessarily in the sam
H is sitting between G and K, 1is i

a.  Jis thzrd to the left ¢ -,‘,,‘"

oy, O S
m
&
5
(=}
=
Q
@ =
L
S
S
=

Who sit opposite to B?

a. A 3 D)
e C d F

Four Indian, A, B, C and D and four Chmese
E, F, G and H are sitting in a circle around a
table facing the each other in a conference. No
two Indians or Chinese are sitting side by side,
C who is sitting between G and E is facing D,
F is between D and A and facing G, H is to the
left of B. Who is sitting left of A?

(17)

g, JE

CA. Pranav Popat

a. 2

R

h not sitting with B who is not on the left en.

20)\ A, B, C, D and E are sitting on the bench.

(19) Five gils are sittiag o

photographed.
to the righ

Rani. Re @ ‘
sittingeiymediate ri i 4
a. 0 eema b. Rani
C Bindu d. Ma

sitting next to B, C is sitting next to D,

the bench. C is on the second position from
right. A s to the right of B and E. A and C are. &
sitting together in which position Ais sitting
between?

a. Cand D
c. BandC

b. Dand E
d. Band D

i e ol

(21) A, B,C, D, E, Fand G aresitting in a row

facing north:
1. Fis to the immediate right of E.
2. Eis 4" to the right of G
3. Cis the neighbor of B and D
4. Person who is third to the left of D is aif p
one of ends.
Who are to the right of D?
E,Fand A
G, Band C
C Band E
G and B only

U0 SR
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it
middle?
a G

D;‘:Q?Sm?u"d wall facing North. O sits forth d
left of 5; P sits second to the right of S; onl R —
i > only two (30) Pray@omal. I Sha
1_”01’18 ?li‘ bewieenA Pand M; N and R are % aif d" RSy 2r ting
z'mmed{ate neighbours of each other. N is ot an | Pran ‘i:s,jburfh_ 0 the.
lm-m;:late neighbour of M; T s ot the (ii)  Walter is ﬁuﬂh tot
Zfif;eeﬁuﬂ’f,ﬁ g‘?" PHYpersons are seate] (iii)  Ravi and Uroi, which are not at the
2 One - b. Two ends, are neighbours of Qomal and
C. Three d: 19577 Trilok, respectively.
: (iv)  Walter is immediate left of Pran

Inaline, Pis sitting 13t from left. Q is and Pran is the neighbour of

24" from the right and 3+ left fro Qomal.
¥ many people are sitting in the li Identify who are sitting at extreme ends
a. 34 b 3 a. Pran and Walter
b. Trilok and Urvi
@ Trilok and Shalu
(26) Fiveboys A, B, C are sitting in a row. A is d.  Shalu and Pran
to the right of B and E'is fo the left of B, but to
the right of(C. A is,tothe left of D. Who is (31) Six friends— A, B, C, D, E and F are sitting
second fronéze 1;2 end? around a circular table facing towards the
a. D h. A centre of the circle. E is not sitting between B
p E i B and D. Assits to the left of F and C is fourth to

= AR ’  BYO D the right of A. D is immediate right of E.
(27) P,Q, R, and S are playing a game of carrom. P, Whaisits secendtomisr i
Rand S, Q are partners, 'S’ is to the right of 4 ¢ Lo
5 R If ‘R" s facing West, then ‘Q’ is facing & B 4B
which direction?
a. South b. North
C. East d.  West

—

—
? Compiler CA Foundation Maths, LR and Stats [N ZCI IR0 /M/
—_— =
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a. =
R

Six childrepfy, BYC, D, E and F are sittin
row. B isb and D. E is between A
C er, A does not stand next to F or
do stand next to D. F is between which of

Linear Arrangements in single row

Mock Test Paper Questions

the follewing pairs of children? e |
a. BandE b. BandC 3
(@) There are five houses P, Q, R, S and T. P is : c. BandD d. Band A ‘
right of Q and T is left of R and right of P. Q is
right of S. Which house is in the middle? " Five students are A,B,C,D and E are standing
a. P b. Q | § in arrow . D is on the right of E; B is on the left
A of E but on right of A. D is next to C on his left.
The student in middle is
a. B b. A
g E d. '@

9 Inacollege party, 5 girls are sitting in a row. F
is to the left of M and to the right of O. R is
sitting to the right of N but to the left of O. Who
is sitting in the middle?

a. (@) b. R
: R e P ¥ d M
There are Five houses A, B, C, C, D, E, A is the 3o ﬁfli.k_; g 7. & , MTP | w19
right of B and E is left of C and right of A, Bis (10)  Five friends P, Q, R, S and T are sitting in a
right of D, which house is middle row facing North. Here, S is between T and Q
a. A b. B and Q is to the immediate left of R. P is to the

i C d. D immediate left of T. Who is in the middle?

a. S D
c. Q gl IR

@)  Girls are sitting on a bench, Q is the left of R
but on the right of P. S is to be right of R but
one left of T. Who are the extremes.

@, P.T bESP 'S
c. T d QS

/ e .-i,
/m MCQ Compiler CA Foundation Maths, LR and Sta

—_—

8
bt

Scanned with CamScanner



2
a.
G:

(13) Six friends A, B, C, D, E gnd
bench, facing towards Noyth,

1

Sy O HS OO

7
8

At what position A is sitting? |
a.

b.
c.
d' -

Six friends A, B, C, D, E and
- row facing East. “C “is betyypy, 14/ and
A isjustto the right of E by g
right end. How many persops 4

—

Faressitting iy,
'Er,' :B,
of D". °F is ot

re to the left of E

1 3%
3 d 4

are sittin gona

A'ls sitting next to B,
C s sitting left to D,
D is not sitting with E
E is on the left end of the bench.
Cis third position from right.
A'is on the right side of B and to
right side of E.
Aand C are sitting togegm‘é%

F
iy

F is sitting Right of [N .

Between B and C 'e’?’_
Between D and C
Between E'an

A,@,C’, D, E énd F are sitting on a

bench, facing towards North.

9.

A is sitting next to B.

10. C is sitting left to D.

11. D is not sitting with E

12. E is on the left end of the bench.

13. C is third position from right.

14. A is on the right side of B and to the

right side of E.

15. A and C are sitting together.
16. F is sitting Right of D.

e —

‘@ Compiler

CA Foundation Maths, LR and Stats |

(17)  Five Friends are sitting on a bench. A is to the

c

frinds A, B,C, D, Eand F are sitting in a

CA. Pranav Popat

Second from right.

Six Children A, B, C, D, E and F are sitting in
a row facing towards North. C is sitting
between A and E, D is not at the end. B is
sitting immediate right of E, F is not at the
right of end, but D is sitting 3rd left of E.
Which of the following is right of D.

a. A b, "SF

d @

left of B but on the right of C, D is to the right
ofB but one the left of E. Who are at the
extremes?

a. AB bl AR

‘C,E d B D

row facing East. ‘C" is between ‘A ‘and ‘E’. ‘B’

is just to the right of E” but left of ‘D". ‘F'is not f
the right end . How many persons are Left of ‘E’
) .

BN G N =

a
b.
@
d
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2. Fisstand

~ w"_“% .51/!;’\;1‘ [ : S|
bwmmasﬁ-s 3. Bis to the left
vetween A and C. A does Not Stand next to F 4, Cand
XMD.CdoesnotstandnmmD.Fisbetween

%

‘ ﬂﬁdxofﬂuﬂllmingm‘rsofchildrm?
a.  BandE b. BandC

¢ BandD d. Band A
(21)  Five boys A, B, C, D and E are sitting in a row a. : ; \
Jacing north. Ais to the immediate right of B . : j
and E is on the immediate left of B but on the Not: Incomplete Que in MTP (Corrected here)
right of C and A is on the left of D. Who is .
second from the left end? 27)*°1.P, Q R, S, T, Uand V are sitting on a wall
a D b. A % P~ and all of them are facing West.
& B d B X 2. Sison the immediate left of R.

3. Tis at an extreme end and has Q as his
(22)  Inastraight line there are six person sithyi®ym,

neighbor.

@ row? B is between F and D. E i 'ch;A 4. Vis between Q and UI.
and C. A does not stand next to therParD, C 5. S is sitting third from the north end.
does not stand next to D. FQL;N which of Who is sitting to the left of S?
the following? &" g b. U
@  BandE b. Band C c. T d R
¢. BandD d. Band A e [

- MTP Apr21 28) 1.P,QR,S, T UandV are sitting on a wall
Five boys A gnd E are sitting in a row. and all of them are facing West,
Als to the rig PG and E is to the left of B but 2

2. Sison the immediate left ofR.

to the right o A

is to the left of D. Who is

3. Tis at an extreme end and has Q as his
second from left end neighbor.
a. A b. B 4. Vis between Q and U,
& D d. E 5. S is sitting third from the north end. 1
Which of the following pairs o le are
@4 Five students A, B, C, D, and E are standing in sittingz thef:xtrelnwisds? e
lm.DisrightonﬂleE;BisontheleﬁofE a. Qv b. PR 3
MuhrighlofA.DisnexHoConhisleﬂ. '

4 c. TP d ST
The student in middle is
o B b. E
L d A
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Who are in the extreme e
a. Gand B b. CandF
L. Band D

Six friends A, B, C, D, E, and F are sitting ina
(36)  row facing north. C is sitting between A and E.
D is not at the end. B is sitting at the immediate
right of E. F is not at the right end but D is

is 10t near B or E but E and\ere logether D i sitting at 3rd left of E.

not to the right of B. Who is ex tly in the Which of the following is sitting to the left of
middle? D?

a. A . F a F b. C

C. E d.  None of these G, E d A

Seven persons A, B, C, D, E, Fand G are N (37) Six friends A, B, C, D, E, and F are sitting in a
sitting in a straight line (not necessarily in the row facing north. C is sitting between A and E.

same order) facing North

1. Only two persons sit between F and G and
G sits second to the left of B.

D is not at the end. B is sitting at the immediate
right of E. F is not at the right end but D is

sitting at 3rd left of E.
2. D sits third to the left of C
3. Esits exactly between G and B and B sits Who is at the immediate left of C?
at the extreme right end of the row. a. A b. E
Who amongst the following sits at the extreme ¢ FEitherEor A d.  Not determine
left on the line?
@, F b. D

'Compiler CA Foundation Maths, LR and Stats ] CA. Pranav Popat , ﬂ
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d Z

A, B, C, D and E are sitting on a bench. Ais
sitting next to B, C is sitting next to D, Dis
not sitting with E who is on the left end of the
bench. C is on the second position from the
right. A s to the right of Band E. A and C are
sitting together. In which position A is sitting?
a. Between B and D

b Between B and C
c: Between E and D
d Between C and E

(41) There are four children P, Q, R, S sitting
row. P occuples seat next to Q but rwt r

Five persons are s
two persons at the

ends is a professar
and the othgbu jnessman. An advocate 1s
standing to ‘ﬁ;rt of a student. An author is
to the left of the businessman. The student is
standing between the professor and the
advocate. Counting from the left, the advocate is

at which place?
a. Ist b. Dnd
G’ SE d. 5t

at south end T is neighbou
Q are seated together, th

middle? . N

Mhe wife of Ram, Ramis
ant’s father is Madhur, Sheetaz
g 1other, Rema is sheetal’s \
_in-law. Rohit is Rani’s brother’s sarmfﬁ_;,I
Who i&Rohit to Suresh?
a. Brother-in-law
Brother

b. Son
d. Nephew

(o5

Six friends A, B, C, D, E and F are sitting in a
row facing East. C is between A and E. B is just
to the right of E but left of D. Fis not at the
right end. Who is at the right end?

a. D b. B

E d: 2 €

ﬂ?é_‘}“ ..::3:"‘:  MTP June 2

(47) Six friends A B C, DyE and F are szttmg ina
row facing towards North. C is sitting between
A and E. D is not at the end. B is sitting at
immediate right of E. F is not at the right end
but D is sitting at 3 left of E.
How many persons are there to the right of D?
a. One b. Two

c. Three d Four

(48) Szx frlends A B, C, D E und Fare szttmg in a
row facing towards North. C is sitting between
Aand E. D is not at the end. B is sitting at
immediate right of E. F is not at the right end
but D is sitting at 3" left of E.

Which of the following is sitting to the left of

D?
a. F e
& E d A

= 1

MCQ Compiler CA Foundation Maths, LR and Stats
—
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Linear Arrangements in two rows

Mock Test Paper Questions

Linear Arrangements i;, two rows

Eightpersons P to W are sitting fnﬁ' it of -

ol
|

Past Year Questions another in two rows. Each row has four persons.
= & ,QP is between U and V and facing North. Q, who
- S — s to the immediate left of M is facing W. Ris
(1)  Six flats on a floor in two rows facing North and R ft

. >\ between T and M and W'is to the immediate

R O i o gets ™, right of V. Who is sitting in front of R?
a North facing flat and it is not pext to S. S and" (

o

; a. u b. Q
U get diagonally opposite flat. R next to gets c. d P
a South facing flat and T getsa No&r;tlkifac‘?\i@g% 8 Fanead
flat. Whose flat is between Q and'S? >’ (2)  Whois to the immediate right of R?
a. i gt a M b. Ul
¢. R ‘ c. MORP d T

(2)  Six friends P, Q, R, S, T and U are sitting () In which of the following pairs, persons are
around the hexagonal table each at one corner sitting in front of each other?
and are faciug the center of the hexagonal. P is a. MV b. RV
second to the left of U. Q is neighbor of R and . I d. UR
T'is second to the left of S. Which one is sitting ! S e R

opposite to S? (@)  Eight person’s P to W are sitting in front of one

a. R b another in two rows. Each row has four persons.

g 0 d S ‘ P is between U and V and facing North. Q, who
‘3 . PYQ June 22 is to the immediate left of M is facing W. R is
@) Ifsix person are sitting in a hexagonal table are between T and M and Wi is to the immediate

P,Q R, S, T Ueach facing the center. P is right of V.

seated to opposite to Q who is b/w R & S. P is Who is sitting in front of R?

b/w T and U. T is the left of S. Which of them is N Gl (0

facing R? @ Vv gh 1P

a. P b. Q

E—

—— ] ' P /—\
’i"”’PI/er CA Foundation Maths, LR and Stats |BURECUEIRL LD /M/
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imediate right of R?
b U
d. None of these

(6)  Eight person’s P to W are sitting in front of one
another in two rows. Each row has four persons.
P is between U and V and facing North. Q, who
is to the immediate left of M is facing W. R is

between T and M and W is to the immediate
right of V.
In which of the following pairs, persons are
sitting in front of each other?

b. RV
~d_UR

a. MV
G TV

(7)  Six flats on a floor in two rows facing North and
South are allotted to P, Q, R, S, T and U. If Q
gets a North facing flat and is not next 0 5.5 4
and U get diagonally opposite flat. R is next,

U gets a south facing flat and T gets North

8 Persons A, B,.C D, EFQ H are sitting
in two rows opposite to each other. Each row has
four persons. B andC.are sitting in front of each
other. C is between' and'E. H is sitting
immediate left of Eb Land F are diagonally
opposite. G M g{gfre not near to each other.
Who is in front of A?

a. E

(s

(9)  Six persons A, B, C D E and Fare szttmg in
two rows with three persons in each row. Both
rows are in front of each other. E is not at the
end of the any row and D is second left to the F,
C is neighbour of E and diagonaly opposite to D.
If B is neighbour F who is in front of C then who
is sitting diagonally to F?

3 € by E

CA. Pranav Popat

@

Circular Arrangements
Past Year Questions

Eight friends I, |, K, L, O and P ar

sitting in a circle faci

second to the 11,

and O; ] and not sitting opposite to each

other ollowing statements is not

corre @ :

a. is sitting third to the right of L j
is sitting between K and N 2
and I are sitting opposite to each other

M is sitting between N and L

AT, € and D are playing cards. A and B are
partners. D faces towards North. If A faces
West, then who faces south?

a
b.
C.
d 1 imzdequate

Four ladzes A, B C and D four Gentlemen EYE

G and H are siting in a circle around a table
facing each other.
1. No two ladies or gentlemen are sitting
side by side.
2. C, who is sitting between G and E, is
facing D.
3. Fis between D and A facing G.
4. His to the right of B.
Who is immediate neighbour of B?
a.  Gand H b. EandF
c. EandG d. Aand B
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Six friends A, B, C, D, E and F are sitting i
| closed circle facing the center.
2, Eis to the left of D.

3, C is between Aand B.

4, F is between E and A

Who is to the left of B?
a' A : b. C
D e

c
@ L Six friends A, B, C, D, E and F are sitting in

a closed circle facing the center.
2. E is to the left of D.

3, C is between A and B.

4. F is between E and A
Who is to the right of C?

. A b.
(% Cata d.

Gl ¢ x :@ém
)  Four girls are A, B, C and Diare sitting around
o circle facing the center. B andC are in front of
each other, which @fthe following is definitely
true? :

A and D are in front of each other
A is not between B and C
e D is to the left of C
d. Aistothe left of C ,
L MTP Nov 20
(5)  Five people A, B, C, D and E are seated about a
round table. Every chair is spaced equidistant
from adjacent chairs.
L. C is seated next to A
I. A is seated two seats from D.
III. B is not seated next to A.

S

Which of the following must be true?

| —

Eight friends A, B, C D.EF G andH'crf |
sitting in circle facing the center . B is sitting G
and D. H is third to the left of B and second to
the right of A. C is sitting between Aand G and
B and E are not sitting opposite to each other ?

Who is third to left of D ?

a. F
b. g
C. A
d. Cannot be determined

R 7% a1
’ﬂ&?—g’

©®)

0 Compiler c4 Foundation Maths, LR and Stati/ CA. Pranav Popat

e

Eight friends A, B, C, D, E, F, G and H are
sitting in circle facing the center . B is sitting G
and D. H is third to the left of B and second to
the right of A. C is sitting between A and G and
B and E are not sitting opposite to each other ?

Who is sitting between H and D ?

a. e
b. Jij
C. A
d. Cannot be determined




10) (@)P,QR,S,T,U,Vand W are sitting round
the circle and facing the center.

(b) P is second to the right of T who is
neighbour of R and V.,

(c) S is not the neighbour of UL

(d) V is neighbour of U.

(e) Q is not between S and W. W is not between
U and S. Who is immediate left of V?

) R

@h I

(@)P,Q,R, S, T, UV and Ware SlttlTl
the circle and facing the center. #*%
(b) P is second to the right of T‘ﬁzﬂo %
neighbour of Rand V. 4

(c) S is not the neighbour ofil [
(d) V is neighbour of U.
(e) Q is not betwe e
uand S
What is thelpositi w’ R?
a.  Bet Pand T
b Second to the right of S

. tothe immediate right of W
d inadequate data

S and W. W is not between

(12) (@)P,QRSTU, Vand W are szttzng round

the circle and facing the center.

(b) P is second to the right of T who is
neighbour of R and V.,

(c) S is not the neighbour of U.

(d) V is neighbour of U.

(e) Q is not between S and W. W is not between
uand S

the immediate left of K.
he immediate left of V?

b. M
d. Nonmeofthese

Who

P, T, V,R, M, D, Kand W are sitting around a
circle table facing the centre. V is second to the
left of T. T is fourth to the right of M. D and P
are not immediate neighbours of T. D is third to
the right of P. W is not an immediate neighbour
P. P is to the immediate left of K.

What is R’s Position with respect to V?

a. Second to the right

b Fifth to the right
c.  Third to the left
d

Second to the le ‘

Four ladies A, B, C and D and four gentlemen
E, F, G and H are sitting in circle around a

table facing each other
1. No two ladies or gentlemen are
sitting side by side
2, C, who is sitting between G and E
, facing D
3. F is between D and A and facing
@ ;

4. His to the right of B
Who is immediate neighbor of B?
a. GandH b. EandF
c. AandB d.  None

=ﬂ
MCQ Compiler CA Foundation Maths, LR and Stat
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ve students are standing in q circle, Aphipg
is between Alok and Ankur, Apurog is o e
- left of Abhishek. Alok is on the left of Apurva,

~ Whois sitting next to Abhingy

on his right?
a.  Apuroa b AN
- ¢ Abhishek d. Alok

(19) Six persons A,B,C,D,E and F are standing in q

circle. B is between D and C. A is between E and A
C.F is to the right of D Who ig between A and
JEY ‘

(20) Eight friends A, B, C, D, E, F, G,
sitting in a circle facing the Centre
between G and D. H is thir,

ing between A

and G and B and E are not sitting opposite to

each other. Who isithird to the left of D?

R V o

c A f <V d Cannotbe

N T M
(21)  Eight friends A, B, C, D, E
sitting in a circle facing the Centre, B is sitting
between G and D. H is third to the left of B and
second to the right of A. C is sitting between A
and G and B and E are not sitting opposite to
each other. Which of the following statement is
not correct?
a. D and A are sitting opposite to each
other
b. C is third to the right of D

'@ Compiler CA Foundation Maths, LR and Stats /B RCULILE LN
\*
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2)

©)

@)

6)

Re ; stions
Regular Question

Past Year Questions

: PYQ May 18
A reads a book and find the name of the author
familiar. Th author ‘B’ is the paternal uncle of
C. C is the daughter of A. How is B related to
A?

a. Brother b. Sister
C. Fuather d. Uncle
PYQ May 18

P and Q are brothers R and S are sisters. P’s
son is R's brother. How is Q related to R?

a. Uncle b. Brother
c. Father d. Grandfather
PYQ Nov. 18

Six persons are seen together in a group. They
are A, B, C, D, E and F. B is the brother of D,
but D is not brother of B. F is the brother of B, C
and A are married together. F is son of C, but C
is not the mother of F. E is the brother of A. The
number of female members in the group is:
a. 1 : b. 2
e, 3 d 4 _
PYQ Nov.18
Ram and Mohan are brothers, Shankar is
Mohan'’s father. Chhaya is Shankar’s sister.
Priya is Shankar’s niece. Skubhya is chhaya’s
granddaughter. How is Ram related to
Shubhra? "

a. Brother b Uncle
c.  Cousip~ " d. Nephew
( PYQ Nov. 19

A, B, C, D, Eaud'F are members of a family. B
is the son of A but A is not the mother of B, A
and C are married couple. F is the brother of A.
D is the sister of B, E is the son of C.

How many male members are there in the

family.
a. 1 b. 2
G 3 d 4

@)

®)

.\

“P is the brother of Q and R, S is the mother of

9
s

(10)

(11)

MCQ@ Compiler CA Foundation Maths, LR and Stats [Re Nl 18220

A, B, C, D, E and F are members of a far
is the son of A but A is not the mother of
and C are married couple. F is the brother of A,
D is the sister of B, E is the son of C.

How is F related to B?
a. Uncle b. Daughter
c.  Son ~ d. Niece

A, B C D, Eand F are members of a family, B
is the son of A but A is not the mother of B, A

and C are married couple. EgS the brother of A.
D is the sister of B, E is Mz&f (G
How many children hav
a. 3 iy )
c. 4 : didadl

PYQ Nov.20

Vicky intj;bduc‘h ohin as the son of the only

brotheraf his father’s wife. How is Vicky related

toJoln?’ '

a. Son b. Cousin

c. Uncle d. Brother /
PYQ Jan. 21

R. T is the father of P, which of the following
statement cannot be definitely true?
a. S is the mother of P

b. P is son of S
e T is husband of S
d. Qs son of T

PYQ July 21

Ais C's son, C and Q are sisters, Z is the
mother of Q and P is the son of Z. Which of the
following statement is true?
a. A and P are cousins
C and P are sisters
P is the maternal uncle of A
A is the maternal uncle of P (I

PYQ Dec. 21
D is daughter of E. A is son of D. C is a brother
of A and B is the sister of A. F is the brother of
D. How F is related to B?
a. Father-in-law b. Uncle
c. Brother d. Mother-in-law

SIS IS
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) P,Q RS, T Uare 6 members of a family in
- which there are two married couples. T, a
teacher is married to a doctor who is mother of
R and U. Q the lawyer is married to P. P has
one son and one grandson. Of the two married
ladies one is a housewife. There is also one
student and one male engineer in the family.
Which of the following is true about the
granddaughter of the family?

a. She is a lawyer
b She is an engineer
& She is a student
d She is a doctor
, PYQ Dec. 21
(14) Xand Y are brothers. R is the father of Y. S is
the brother of T and maternal uncle of X. What
is T to R?
a. Mother b. Wife N

C Sister d. Brother
F PYQJune®2”

(15) Ravi is son of Aman’s father’s sister. Rani Tpw,
son of Divya, who is the mother of Gﬁ‘gm\?’ nd
grandmother of Aman. Ashok is fatherofdanya
and grandfather of Ravi. Dﬁajﬁs wife of Ashok.

How is Rawvi related to Divj%t
a. Nephew b. andson

e Son we. d. None of these
L ?‘ PYQ June 22
(16) Awomen ﬁ ithya boy is asked by another

women abo ﬁlutionship between them.

The women rép ied, “My maternal uncle and

the uncle are his maternal uncle are same”, the
relationship between the lady and the boy is___

a. Maternal grandmother and grandson
b.  Mother and son

c. Father and son

4 Paternal grandmother and grandson

)\ In a joint family, there are father, mother, 3
married sons and one unmarried daughter. Out
of the sons, two have 2 daughters each and one
has a son only. How many female members are
there in the family?

a. 3 b. 6
¢ 9 d. 8
~ PYQDee22
(1) Annanya is mother of Satya and Shyam is the
son of Bhima. Shiva is brother of Annanya. If
Satya is sister of Shyam. How Bhima is related

to Shiva?
a. Son b. Cousin
C. E{rothc:r—in-lmu d.  Son-in-law

(22)  Suman is daughter-in-law of Rakesh and sister-
in-law of Rajesh. Ramesh is the son of Rakesh
and only brother of Rajesh. Find the relation of :

Suman with Ramesh?
a. Sister-in-law b. m
c.  Aunt d. Wi
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He is a student
He is a doctor

a0 SR Y

(24) Sumanis daughter-in-law of Rakesh and sister-
in-law of Rajesh. Ramesh is the son of Rakesh
and only brother of Rajesh. Find the relation of

Suman with Ramesh?
a. Sister-in-law b. Cousin
¢ Aumt 4 Wife
e PYQ Jun 23

(25) Neelam, who is iiéeﬁdk”s daughter, says to
Deepika “your mother-in-law Rekha is younger
daughter of Ramlal, who is my grandfather.” &

How is Neelam related to Deepika? pra

a.  Sister b Niece - N\

c. Sister-in-law  d. Aunt LY N
. Q Jun 23

(26) IfAis the brother‘ of B, Bis the ij’ C
and D is the father of A, theft hog 3%; related
to D? )\ ¥ 4

a. Husband b h/

c.  Granddau d. Grandfather
T . ; PYQ Jun 23

(27) X is the hugband Wis daughter of X. Z is
husband of W, N is daughter of Z. What is the

relationship of Y to N?
a.  Cousin b. Niece
c.  Daughter ‘d.  Grand-Mother
er - PYQ Jun 23
(28) Based on the statements given below, find out

: who is the uncle of P?

(i) K and ] are brothers, (ii)K's sister is M,
(iii)P and N are siblings

N is the daughter of |

K

@)

@3)

_ =
—_ 3
ﬁ S
P
S U
R O IS SRS RS

10

13

16

19 c 2.

22 b 24

25 6 b 27
d

28

4
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Regular Questions

Mock Test Paper Questions

A is B's brother. C is D'S father. E is B's
mother. A and D are brothers. How is E related

a Sister

b. Sister-in-law
cl Niece

d Wife

Ais B’s brother, C is A’s mother, D is C s
father, E is B’s son, How is B related to 1D}
a. Son

b. Granddaughter
(55 Grandfather
d

Great Gmndfather

M,

: e - T N

A is the mother of D and sister of B. Bhas a
daughter C who is married to F. G is the
husband of A. How is G related to D?

a. Uncle

b. Husband
@) Son

d. Father

-
‘Ih:-r

P

ek -

b ‘ .
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related to A?
' a. Uncle
Aand B are brothers. E is the daughter of F. Fis o, e .Niece

®)

(9)

— d. uncle

6) IfPis the husband of Q gug g i

he brother o G
son of D. How is D related to A? s

a. Mother

b. Daught
ek Son HenEk

14

S the moth
and Q. What is R to pr e

a.  Mother b.  Sister
c.  Aunt d Mother -in-|
B e UG

Pis the futher of T T is the daoghter VofAM M zsﬁ
the daughter of K. What is p ¢, K?
a. Father b.

(® Brother

Father-in-law
d.  Son-in-law
MTP Now 18

yoo

the wife of B. What is the relation of Eto A?

a.  Sister b.  Daughter N\ 16
C. Niece d.  Daughter >
MTP
Cis mother of A and B. If D is thenhii“}ga of B,
then what is C to D \A@%
a. Mother 4 lyrz\\ (17)
(o Mother-in-law ~ d."\Sister
% MTP May 19
(10) Ais B’s sister, C is'B's mother, D is C’s father,
EisD’s motheg, t J‘ n”hoi?’ls A related D?
a. Grargddaughter b.  Daughter (18)
¢ Aun \,%}3 d.  Father
é MTP May 18

(i) A, Q, Y and Z are different persons. Z is the

.

father of Q. A is the daughter of Y and Y is the

son of Z. If P is the son of Y and Bis the brother =
of P, then b
a. B and Y are brothers (19)
b.  Aissister of B

c. Z is the uncle of B

d.  Qand Y are brothers

‘A’ veads a book and finddh,

familiar. The author ‘Béis t

‘C".‘C'istheda
related to ‘A’?.

b. Maternal Uncle
d. Dau hter

Cis mother of Aand B. If D is husband of B,
then what is C to D ?

a. Mother b. Aunt

) Mother-m—law d S:ster

Moni is daughter of Sheela Sheela is wzfe of my
wife’s brother. How Moni is related to my wife?
b. Niece

d. stter—m-law

a. Cousin
c Sister

A ﬁzmzly has a man, hls wzfe thetr four sons
and their wives. The family of every son also 3
sons and one daughter. Find out the total
number of male members in the whole family?
a. 4 b3

A7, d_ 17

i v
Gwen that

1. Ais mother of B.

2. Cissonof A.

3. Dis brother of E.

4. E is daughter of B.

The grandmother of D is
a. A b.

CA. Pranav Popat
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-.-E%eafo uimsﬂnebrotherafB
~ Fisdaughter K. U is sister of S, who is son of

T and U. P and T are bro

0. Tis the son of B, who is the male. How U is R is the only son of P@ugcle, Q
related to T? daughters of the quls R'sf
a.  Mother b. Brother How many ;re tTh;;?

C Sister d. Cousin a.

c.
AN
: ‘ﬂi followmg information carefully and

d. Four

(22)  Anil said “This girl s the wife of the grandson
of my mother”. How is Anil related to the girl? (28) Ré
a.  Brother b. Grandfather answenthe questions given below ? There are

c. Husband d. Father-in-law Asix children playing football, namely P, Q, R, S,

T and U. P and T are bothers, U is sister of T, R
is the only son of P’s uncle, Q and S are the

~ MIPMarch21
(23) Pisthe mother of K K is the sister of D. D is

the father of ]. How is P related to j? ~ \ daughters of the only brother of R's father
a. Mother How is S is related to P?

b. Grandmother a. Uncle b. Sister

G. Aunt ¢, Niece d. Cou‘sin

d.  Datais inadequate { i

(29) Ais the son of C; C and Q are the sister; Zis
the mother of Q and P is the son of Z. Which of
the following statements is true?

4 Ina fdhiil;l/, there are six mef et

and F. A and B are a marriedycouple, A being

the male member. D is the only son of C, who is a. A and P are cousins

the brother of A. Eiis,the sister of D. B is the b. C and P are sisters

daughter-in-1 %e husband has died. c. P is the maternal uncle of A

Howis E r@ ? d.  Ais the maternal uncle of P

a. Sist b.  Daughter (2 ﬁ MTP Oc

g Cousin d.  Mother (30)  There are six children playing football, namely
fal MTP Apr 21 P,Q, R, S, Tand U. P and T are bothers, U is

(25) If D is brother of B and B is related C. To sister of T, R is the only son of P's uncle, Q and

answer this question which of the following S are the daughters of the only brother of R's

statements are necessary? father

L. The son of D is the grandson of C. How many female players are there?

IL. B is the sister of D. a. One b. Two

a. Only 1 b.  Onlyll ¢l Three d. Four

e, Either I or II d. Tandll

f?orﬁbll‘er CA Foundation Maths, LR and Stats [Ne) Pranav Popat
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“ow is S is related to P?
a Uncle
¢,  Niece

b * Sistep: &
d. Cousin

B Dis daught.ef c.»f E. Aisson of D.. Cis brother
~ of Aand Bissister of A F s brother of D
How F is related to B ? :

a. g atl:;r “n-law b Ungle
o LTOMNEr _d. Mother-in-]

3 It is given that “A is the motherof B B is the o
sister of C; Cis the father of D”. How is A

related to D?
a.  Mother b. Grandmother
k. Aunt d. Sister
‘». MTP March 22

(4) Sanjay has three daughters, and each daughter
has a brother. How many male members are

Anita is the
mother is Pratik’s aunt.
mother's brother. Rohan
grandmother. From thisy]
the relationship betwee
Prateek’s and @ .
a. Cousi 7%

|- c: F
Y\ |
(40 A w the niece of Pratik’s mother. Anita’s )|
mothewis Pratik’s aunt. Rohan is Anita’s

mother’s brother. Rohan's mother is Anita’s
grandmother. From this information. Deduce

: . TN the relationship between
there in the family? \ \ 7* Rohan is Prateek’s
a. 4 b. 2 ) a.  Brother b.  Brother-In-law
g c 3 d 1 . C. Uncle d. Cousin Brother

, 65) E is the son of A. D is the son of B/Es "té’(ﬁed
to C. Cis B's daughter. Hm“#isﬁgrﬂeliitédzi-‘g E?

a.  Brother b Uncle,
C Brother-in-law ~ d.»«Husband
' N MTP June 22

(36)  There are six children playing football namely
A, B, C, D, Eaund E. A anil E are brothers. F is
the sister of E. C is.the only son of A's uncle. B
and D are the daughters of the brother of C's
father. How is C related to F ?

a. Cousin b. Brother
C. Son d. Uncle
- MTP Dec 22 Series I

B7)  Bis the brother of A whose only sister is mother
of C, D is the maternal grandmother of C How
is A related to D?
a. Aunt
b. Daughter-in-law
C Daughter
d.

Nephew
.

(41) Pis Q's daughter, Q is R's mother, S is R's
brother. How is S related to P?
a.  Father b.  Grandfather
@ Brother d. Son

i r
M

(42)  If Xis brother of son of Y's son, then how is X
related to Y?
a. Brother
& Grandson

b. Cousin
d. Son

(43) If Pis the husband of Q and R is the mother of
S and Q. What is R to P?
a. Mother
c.  Aunt

£

L J

@ Bis the brother of A. Whose only sister is
mother of C. D is maternal grandmother of C.

b. Sister
d. Mother-in-law

How is A related to D? o
a.  Aunt &
b.  Daughter-in-law

e Daughter
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(46)

@7)

(48)

49)

(50)

(1)

——

MCQ Compiler CA Foundatlon Maths, LR LUKl CA. Pranav Popat

X and Y are the children of A. Ais the father of
X but Y is not his son. How is Y related to A?
a.  Son b. Daughter

(2} Sister d. Brother

In a joint family, there are father, mother, 3
married sons and one unmarried daughter. Out
of the sons, two have 2 daughters each and one
has a son only. How many female members are

there in the family?
a. 5 b6
@, 9 d 8
% MTP June 2023 Series I

When Rani saw Vinit, she recollected that “He
is the brother of my grandfather’s son”. How is
Rani related to Vinit?

a. Aunt b. Daughter
¢ Sister d. Niece
MTP June 2023 Series 1

Annanya is mother of Satya and Shyam is the
son of Bhima, Shiva is brother of Annanya. If
Satya is sister of Shyam, How Bhima is related
to Shiva?

a. Son b. Cousin
) Brother-in-law  d. Son-in-law
MTP June 2023

Suman is daughter-in-law of Rakesh and sister-
in-law of Rajesh, Ramesh is the son of ‘Rakesh
and only brother of Ra]esh Fmd the'relation of
Suman with Ramesh. R

a. Sister-in-law b. Gousm
(e Aunt &, 4 Wife
June 2023 Series I1

The brotherlqof X’s, another is the only son of Y's
mother’s fath@r ngw is Y’s mother related to X.

a. Mother b.  Daughter
c. Grandmother d. Cannot be
determined
MTP June 2023 Series I1

A man said to a woman, - your mother’s
husband’s sister is my aunt. How is the woman
related to the man?

a. Granddaughter  b.  Daughter

c Sister d. Aunt

Tank

)

®3)

@)

d gL

a a

d c :

a b A

d a b
16 ¢ 17 b 18 d
19 a 20 d 21 d
22 d 23 b 24 b
25 d 26 d 27 ¢
28 b 29 ¢ 30 ¢
31 b 32 b 33 b
34 b 35 ¢ &36 a
S70C 39 d
40 ¢ 42 ¢
43 d 45 b
46 c 48 ¢
49 d 51 ¢

CAPRANAV / : ‘Bload Reiatlons

- Pointing Based Questions

Past Exam Questions

PYQ May 18
Vinod introduce Vishal as the son of the only
brother of his father’s wife. How is Vinod related
to Vishal?

a. Cousin b.  Brother
ol Son d. Uncle »
PYQ May 18

Suresh introduces a man as “he is the son of the
women who is the mother of the husband on my
mother”. How is Suresh is related to the man?
a. Brother-in-law  b. Son
(oh Brother d. Nephew

PYQ May 18
A prisoner introduced a boy who came to visit
him to the jailor as “Brothers and sisters I have
none, he is my father’s son’s son”. Who is the
boy?
a. Nephew b. Son
& Cousin

Pointing to a man in a photograph, a women
said, “the father of his brother is the only son of
my grandfather”, how is the women related to
the man in the photograph?

a. Mother b. Aunty

& Daughter d. Sister
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him? i
a.  Son
¢.  Nephew

b. Uncle
d.  Brother

(7)  Pointing the old man Kajlash said “his son is
my son’s uncle”. How is Kailash is related to

old men.
a Brother
b Either son or son in laz
c Son
d.  Grandfather
j PYQ June 19

(8  Pointing in a photograph, Sonia said, “His
mother's only daughter is my mother”, How is
Sonia relates to that man?

a Nephew b.  Sister
C Wife d.  Niece
PYQ

(9  Point out a Lady Sohil said she is the'daughter
of woman, who is the mother of the hitsband of
my mother. Who is the lad y;:f'b "Sbh\?l*?_

a.  Sister b. N Aunt
. Daughter d.  Sister-in-law
. PYQ Nov. 20

(10)  Pointing towards a‘;pe'rsn‘ﬂ, A man said to
woman, “His motheris the only daughter of
your father " How s the woman related to that

person?
a. Mother b.  Daughter
0, Sister d. Wife
PYQ Now. 20

(11) A man said to a lady “your mother's
husband’s sister is my aunt. “How is the man
related to the lady?

a.  Father b.  Grandfather

. Son d.  Brother

daughter of father of her uncle. The boy is girl's
a.  Son b.  Brother

-
’ b LR
\ ¢ e

, (16)  Pointing to a lady, Sahil said, “She is the

CA. Pranav Popat

Aunt
Daughter

(14)  Pointing to a laa }f
“Her son’s fa @ L
mother”, HouisBa
a. A

c. #"Siste

15 A r itroduced, a boy as the son of the : )

c. Son-in-law d.  Uncle

daughter of the woman who is the mother of the
husband of my mother”. Who is the lady to

Sahil?
a.  Aunt b. Sister
c.  Daughter d. Sister-in-law

(17)  Shyam'’s mother said to Shyam “My mother has
a son whose son is Ram”. Shyam is related to
Ram as.
a.  Uncle b.  Cousin

c.  Nephew d. Gmndﬁther

(18)  Amit said “The girl is the wife of the grandson
of my mother”. How Amit related to the girl?

a. Father-in-law b.  Grandson
(e Father d. Son
&

(19)  Pointing towards “A", “B" said : your mother
is the younger sister of my mother”. “Ais
related to “B” as. '
a.  Uncle
¢.  Nephew

b.  Cousin
d. Fatker',"“
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(23)

i

(24)

(25)

MCQ Compiler CA Foundation Maths, LR and Stats ||

e youngest da of the brother-in
uyﬁm"smoﬂur . How is theg”"‘lmd w
R’s friend?

a. Cousin
Niece

b. Daughter
d. Aunt

@

If Kamal says, “Ravi’s mother is the only
daughter of my mother. How is Kamal related
to Ravi?

a. Father
c. Son

b. Grandfather

d. Maternal uncle
T PYQDec22
When Rani saw Vinit, she recollected that “ He
is the brother of my grandfather’s son”. How is

Rani related to Vinit?

a.  Aunt b. Daughter %
c.  Sister d. Niece 4 g
' PYQ Dg}&
Pointing to @ man in the photograph. Khushi™ ‘
says, “This man’s son’s sister is my mother—m- b,
law”. How is the Khushi’s husband related to @
the man in the photograph? Q=
a.  Grandson by’ Son \
c.  Son-in-law %uqm
’ PYQ Jun 23
Pointing to a pho h a woman says “This
man’s son’s si other-in-law”. How )
is the wom d related to the man in
the photogr
Son-in-law
C Grandson d. Nephew
Answer Key
a 2 b 3 b
d S8d 6 d
¢ 8 d 9 b (6)
a 11 d 1280
a 14 b 15 b
a 17 b 18 a
b 20 a 21 a
d 25 d 24 a

your fat
man in the photogra‘ph?
a.  Sister

CA. Pranav Popat

. Waugnter

'’ ”mm h A_ &
of my wife ”. How is

ster of father-in-law
aternal Aunt
' : ey

B G S

%Painting to a photograph of a boy, Ravi said,
3“He is son of the only son of my mother”. How

is Ravi related to that boy ?
a. Brother b. Uncle
(& Cousin d. Father

Pointing to a photograph of a boy Ravi said,
“He is son of the only son of my mother “. How
is Ravi related to that boy?

a. Brother b. Uncle

c. Cousin d. Father

Pointing to a photograph Lalita says, “He is the
son of the only son of my grandfather.” How is
the man in the photograph related to Lalita?

a. Brother

b. Uncle

& Cousin

d Data is inadequate "

Pointing to a photograph Lalita says, “He is the
son of the only son of my grandfather.” How is
the man in the photograph related to Lalita?

a. Brother

b. Uncle

G Cousin
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d. None

~ Pointing towards photograph. Vinoaid ’he
is the daughter of my wife’s mother's ]

; ' onl
daughter”. How is Vinod is relateq to 3

the Photograph? the girl in

a. Cousin B

c.  Father o
 MTPMarch 22

(9)  Introducing aboy a girl said, “He s the son of
the daughter of the father of my uncle *. Who is
the boy to the girl ?

a. Brother b.  Nephew
C Uncle d.  Son-in-law
" A MTP March 22

(10) Rita told Mani, “The girl I met yesterday at the
beach was the youngest daughter of the brother-
in-law of my friend’s mother.” How is the girl
related to Rita's friend ? ol
a.  Cousin b. Daughter %
c. Niece A Aunt  \ Dy

TP Jiipe 22

(11) Pointing towards a girl in the photograph;
Pooja said. “She is the mother of Janaki whose
father is my son.” How is Po_aja related to the
qirl in the photograph?

a. Mother . b Cousin
G Aunt . W d.  Mother-in-Law
( ‘\ MTP June 22

(12) Mr. Vimleshsaid, * This girl is the wife of the
grandson of my mother.” How is the Mr.
Vimlesh related to the girl?

a. Father b.  Grand Father
C. Husband d. Father—in-Law
B MTP June 2023 Series I

(13) Pointing to @ man, a lady said “ His mother is
the only daughter of my mother”. How is the

lady related of the man?

a. Mother b. Daughter

L Sister " d. Auntl P
L AnswerKey =

1b 2 ¢ 3

CA, Pranav Popat

(g

MCQ Compiler CA Foundation atf "

Other Special Problems

Past Exam Questions

(1)  IfP+Q means P is the mother of O P+Q fl
means P is the father of Q; B~ Q means P is the
sister of Q; then which of the ing -

relationship shows th s the
. R+N+M

d. None of these
2 P + Q mea brother of Q, P~ Q means P
is t terof Q. PxQ means P is the sister

ich of the following means M is the

of
maternal uncle of R? :
s}@ a. M+K+R b. M-R+K
V¢ M+K-R d  M+KxR
p g

(3) IfAS$ B means Ais father of B. A# B means A
g is daughter of B. A @ B means A is sister of B.
Then how is K related to Mif H@ K$ L # M

a. Husband b. Uncle

c.  Father d. Grandson
AnswerKey

1 a 20¢ SN

Other Special Problems

Mock Test Paper Questions

>

(1) Read the following information carefully to
answer the questions that follow.
I'P + Q' means ‘P is father of Q
IL. ‘P - Q' means ‘P is mother of Q°
I1I. ‘P x Q" means ‘P is brother of Q
IV. ‘P = Q" means ‘P is sister of Q’
Which of the following means ‘M’ is maternal

uncle of T? :
a.  M=KT b. MxK-T
c. ~ MxK+T d. M+K+T

L
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3, B me

o the ollowing means that C is the
M2
s MN<GE b F-CHNeM
¢ NeMPC  d MNGHF

If A+B means A is the sister of B, A x B means
Ais the wife of B, A % B means A is the father
of B and A~ B means A is the brother of B.
Which of the following means T is the daughter
of P?
‘ a.

@

PxQ%R+S-T
b. PxQ%R-T+S
(&5 PxQ%R+T-S
d. PxQ%R-T+S

0

6) If'A +B means A is brother of B, A-Bn

son of M?
a.  M-NxC+F b.
c.  N+M-FxC d.

- .
6) ‘X@Y mean Wther of Y;
‘X $ Y’ means ‘X is the husband of Y;
‘X #Y me the sister of Y'.
‘X * Y’ means ‘X is the son of Y'.
Which of the following indicates the relationship
"A is daughter of P'?

o. P@B#F*A b P@BH#A'F
. AtF*B@P d A#F*BSP
R MTP June 22

(7)  Following questions are based on the
information given below.
(i) 'PxQ’means ‘P is the father of Q
(ii) 'P-Q’ means ‘P is the sister of Q'.
(iii) "P+Q’ means ‘P is the mother of Q’

—————
MCQ Compller CA Foundation Maths, LR LUK 17l CA. Pranav Popat

] 0]

1

f ]
ich

of the
maternal uncle of B? €
5. BDCA Q&P
Y ACDBa \AA

s A is the son of B” s
Ais the daughter of B”
¢ Ads the sister of B”

ans, “A is the sister of B”
*D is true, how is D related to B?
b. Father
d. Grandfather

) 1fA+Bm

IfA
a.  Wife
c.  Grandmother

\ m In a certain language, "+ means father of, -/

means daughter of, **' means son of, and ‘I’
means mother of. For example, X + Y — Z means
that X is the father of Y and Y is the daughter o
Z.sA+F-K/G+L*H. How is H related to

A?

a.  Sister—in—law b. Daughter-in-law

c.  Daughter d. Grand—
Daughter

(11) If X+ Y means X is the mother of Y;
X — Y means X is the brother of Y;
X % Y means X is the father of Y and
X xY means X is the sister of Y,
Which of the following shows that O is the
maternal uncle of L?

a. L-N+MxO b O+SxN-L
e O-M+NxL d. L-5%0
10 2 b 3
4 b 5 d 6 d
78 8 ¢ 9 b
10 b 11 e
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